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Calculus Name ______________ _ 

Exploring the Chain Rule- Day 2 

Warm-Up: 

1. Differentiate using the power rule. Simplify Completely.

a. f(x) = 2x3

b. g(x) = zx-3

1 

c. h(x) =-
3zx 

d. F(x) = S-{i

s 
e. G(x) = vx 

1 

f. H(x) = r::
Svx

2. Differentiate using power rule and chain rule. For this section, you do not need to simplify.

a. f (x) = 2(3x2
- 4x + 9)3

b. g(x) = 2(3x2
- 4x + 9r3

1 

c h(x)=---• 
2(3x2-4x+9)3 

d. F(x) = 5✓(3x2
- 4x + 9)

. 5 
e G(x)---;=;=::;;=====•

- J(3x2-4x+9)

1 
f H(x) - --;=:::;:::==· 

- sJ (3xL4x+9)
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